N = 0l & At & M A

SO R RES
A HE=STNHH It (M1S)

ool BHSIME 2Y LA s CERED
SA-EHB - BAEH) - NRAY - BES 0l & o p/E-F HIDE2

SRR 141,960 143,460 A 1,500
HESKME D23 (M1S) 78,020 79,520 A 1,500
HESIHEH 29 WA S 78,020 79,520 A 1,500
Fo XX 29 3,000 4,500 A 1,500
201 Let24E] 3,000 4,500 A 1,500
01 AFR2telHl 3,000 4,500 A 1,500
OF2 XX
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2

Z & 3,000,000& 3,000 4,500 A 1,500




N = 0l & At & M A

fN: NM2S
FH: HE=STNHH Jlet2dst(M2S)

ool BHSIME 2Y LA s CERED
SA-EHB - BAEH) - NRAY - BES 0l & o p/E-F HIDE2

MN2s 163,378 165,253 21,875
HESKME D23 (M2s) 91,253 93,128 A 1,875
HESIHEH 29 WA S 91,253 93,128 A1,875
Fo XX 29 2,625 4,500 AN 1,875
201 Let24E] 2,625 4,500 AN 1,875
01 AFR2telHl 2,625 4,500 21,875
OFUXX <& 2l

3o 34 ¢
2

2 & 2,625,000 2,625 4,500 A 1,875




N = 0l & At & M A

fAMd: H3S
= HYESKHEH JeLs(H3S)

& HEERNCUEH 23 HAS (&)
SN EH - (EH) - HRAY - BES 0l & p/E-T Hl D2

N33 194,490 195,240 A 750
HYSXME JIH2 3 (M3S) 101,390 102, 140 A 750
HESIHEH 29 WA S 101,390 102, 140 AT750
Fo XX 29 3,750 4,500 AT750
201 L2l 3,750 4,500 AT750
01 At 22l 3,750 4,500 AT750
OFUXX <& 2l

3o 34 ¢
2

2 & 3,750,000& 3,750 4,500 AT50




N = 0l & At & M A

2Ad: SAISS
s Xy

HF: HESKHH IS (SMISS)

ool BHSIME 2Y LA s CERED
SA BB SA(EH) - NEAMY - B 0 4t o4 oI o HIRE

SMISS 279,517 280,627 A1,110
BHESKME DIt (SMESS) 220,237 221,347 A1,110
HESIHEH 29 WA S 220,237 221,347 A1,110
FOXXg 2949 3,390 4,500 A 1,110
201 L2l 3,390 4,500 A 1,110
01 At 22l 3,390 4,500 A1,110
OFUXX <& 2l

3o 34 ¢
2

Z & 3,390,000& 3,390 4,500 A1,110
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N = 0l & At & M A

SN BE2S

M HHSIHE IS (HEH2E)

ool BHSIME 2Y LA s CERED
SN BB EI(SH) - MEANY - BES 0l & o p/E-F HIDE2
yH2s 224,698 221,698 3,000
HEYF K MH 164,346 156,746 A 2,400

dH=XHEH 24 154,346 156,746 A 2,400
Fo XX 29 4,800 7,200 A 2,400

201 Let24E] 4,800 7,200 A 2,400

1 AP 2telHl 4,800 7,200 A 2,400
OFUXX <& 2l =g

2 & 4,800,000& 4,800 7,200 A 2,400

HE2HE = 70,352 64,952 5,400

JlEZdl 70,352 64,952 5,400

JlE&l 70,352 64,952 5,400

B2 | 44,052 38,652 5,400

S22l 24,232 18,832 5,400

0oz23e3 ¥ & 24,232,000 24,232 18,832 5,400




<

n0

Kio

Hl w

A 1,500
A 1,500

A 1,500

A 1,500

A 1,500
A 1,500

111,120
70,720

70,720

4,500

4,500
4,500

g Al A

A
=

Off &t 24

109,620
69,220

69,220

3,000

3,000
3,000

Ol &b A

Al

PAR=|
F=X4H

HAN =2
S o=
SR

HEDS

S
S

2N
X ZH -
L= B
el

Ho
Uk

T

0}
<

30
O

-

D
=

r
R0
0

30
0B
o}
>3

ol

Kk

30
0K
1J
oll

01 AtR 2t 2l |

s

A C
o
2

pas]
~

K0
or
ol

o}
[
oF

K

ol

K-

4,500 A 1,500

3,000

2|

=

=

3,000,000

PS
S

S|

o

=}




<

n0

Kio

Hl w

A 1,500
A 1,500

A 1,500

A 1,500

A 1,500
A 1,500

160,526
94,906

94,906

4,500

4,500
4,500

g Al A

A
=

Off &t 24

169,026
93,406

93,406

3,000

3,000
3,000

Ol &b A

Al

o
IH
H
1o
R0

0}
<

30
O

-

D
=

r
R0
0

30
0B
o}
>3

ol

Kk

30
0K
1J
oll

01 AtR 2t 2l |

s

A C
o
2

pas]
~

K0
or
ol

o}
[
oF

K

ol

K-

4,500 A 1,500

3,000

2|

=

=

3,000,000

PS
S

S|

o

=}




N = 0l & At & M A
P021HE £ 138 YN NIS ~ 2HS
SN HAS
HE: AHSRNME BLE(LNS)

Sl WHETME 2 LA s (29l & 2)
SA-EHB - BAEH) - NRAY - BES 0l & o p/E-F HIDE2
NS 265,744 264,744 1,000
HHSXME JISASH(LHS) 187,165 188,665 A1,500

HH=THE 2 Was 187,165 188, 665 A1,500
zoxzE 29 3,000 4,500 A1,500

201 Yot 2 bl 3,000 4,500 A1,500

01 A= 22l 3,000 4,500 A1,500
OFOURXSARE &0 FH +g

2 3,000,002 3,000 4,500 A1,500

HY2APY (LU E) 78,579 76,079 2,500

SEET 78,579 76,079 2,500

EET] 78,579 76,079 2,500

405 XHoH 3 S b 2,500 0 2,500

01 MU SEHSH 2,500 0 2,500

OSZA Yuwd 7Y 2,500 0 2,500




= >
N = 0 &8 AH Y H N AN
20219 =& 1 3 LEFAH HMIs ~ 248
SA: PHIS
Hz: HMEXHEH It (RAIS)

Sl BHSNME 29 WA s (el &e)
SAH-AH -2 (SA) - HREAY - BES 0] AFoH Iy H H &2
2MIE 229,949 231,389 A 1,440
HESX MY IS (RAIS) 165,540 166,980 A1,440

HEMEXME 2 WA S 165,540 166,980 A 1,440
ZORXS 29 2,880 4,320 A 1,440

201 Yty 2,880 4,320 A 1,440
01 At 22l H 2,880 4,320 A1,440

OFoUXNXRAEZ 3o &N ¢
A 2,880,000 2,880 4,320 A1,440




= >
N = 0 &8 AH Y H N AN
20219 =& 1 3 LEFAH HMIs ~ 248
SA: PAH2S
Mz HMEXHEH It (RA2SE)

Sl BHSNME 29 WA s (el &e)
SAH-AH -2 (SA) - HREAY - BES 0] AFoH Iy H H &2
M= 252,939 254,814 21,875
HESX MY I (RA2S) 173,905 175,780 A1,875

HEMEXME 2 WA S 173,905 175,780 A1,875
ZORXS 29 2,625 4,500 A1,875

201 Yty 2,625 4,500 A1,875
01 At 22l H 2,625 4,500 A1,875

OFANKANS 319 &A +g
A 2,625,0002 2,625 4,500 A1,875




= >
N = 0 &8 AH Y H N AN
20219 =& 1 3 LEFAH HMIs ~ 248
FH =245
M H¥=SIHEH JtdG(2HS)

CHel: HESXME 29 W s (et @ e)
2 A -2 (SH) - HRAY - BES Ol A+ I AR Husz
24s 88,755 87,500 1,255
HE=XMEH JIBAS(SES) 49,855 48,600 1,255

HEZTME 29 WA S 49,855 48,600 1,255
=0IXtx 3 29 3,675 4,500 A 825

201 Yty 3,675 4,500 1825
01 At 22l H 3,675 4,500 1825
OFoUXNXRAEZ 3o &N ¢
A3 3,675,000 3,675 4,500 1825
SMNSX ¥ Xzl 31,120 29,040 2,080
201 L2 7,740 8,040 A 300
01 AFR 22l H 0 300 A 300
Oss8xg 238l =25 348 0& 0 300 A 300
401 Al HI 2L 200 3,000 0 3,000
01 Al&H| 3,000 0 3,000
OSA ZHe B4 ZA 3,000 0 3,000
405 KH&HE EH| 20,380 21,000 2620
01 IHAtY EE FH SH 20,380 21,000 A 620
OZ2=2xe nHTY A 20,380,000 20,380 21,000 2620




